Part- 26

(Mixed Conditionals)




General Present
If/When + V12> V1
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If you eat fast
food, you
become fat

Conditionals
(Active)

Real Future
If + V12 Will + V1
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If you eat fast
food, you will
become fat

Unreal Future
If + V2> Would + V1
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If you ate fast food, you would become fat

Unreal Past

If + had + V3 >
Would/ Could/ Might
+ had + V3
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If you
had
eaten
fast food,
you
would
have
become
fat




Mixed Conditional- 1

3R H Birla 84T, df 99 TRIdI &1 Help &l
If I Birla, Il|would have helped|the poor

were
Type =QILTEEIRE.
Conditional =[ 3]

If + had + V3>
Would + have + V3

Structure =

If Clause - Unreal condition
If + Second Conditional = Third Conditional




Mixed Conditional- 1

3R df Russia ¥ UeT §3(T §1dT a1, T Russian JRa1 &1 gial
If helhad been bornjin Russia,|he would have

taught you write Russian

Type = RILHTGEIR KR
Conditional = E

If + had + V3>
Would + have + V3

Were born

Structure =




Mixed Conditional- 2

3R g¥% map JT1 I1¢ §1dT 38T gidl, df 89 3@ @ g&b A g

If youlhad remembered|to bring a map,
Would
not be | W€ would not have beenj|lost now

If + had + V3>
Type =QILICEIRLESA Structure = | would + have + Vs

Conditional =E|

If + 371 Conditional > Second conditional
(Now/today/tonight/still)




Mixed Conditional- 2

3R Mahesh A a9 drive = fo&ar giar, df 314 af Police &
gD H - UST gidl

If Mahesh hadn’t driven|too fast, today

he wouldn’t have beenjin trouble with the police.

Type = I 1L 0:LEd Structure =| If +had + Vs>
Would + have + V3
Conditional =[ 3 ]




Mixed Conditional- 3 (Alternative forms of 1st)

d If it rains today, I will take a leave from the
office

d If it+ains now, we will go out when it stops
raining

d If she works harder, she can be the manager

d If you leave the house, yeu—-wiH-remember to
lock the door




Mixed Conditional- 4 (As if/As though)

d She treats everyone as if she had-been the boss

d She treated everyone as if she had been the boss

dShe treated us as if we -had-been thieves

As if + Present Tense - Vi (Real) / V2 (Unreal)
As if + Past Tense > Had + V3 (Real) / V2 (Unreal)




Correct the following sentence

1. If they hadn’t rescued him from the sea that day, he would not
have been alive now

2. Boss to the secretary, "When they call next time, you will not
receive their calls”

3. If I had had a bulldozer, I would have run him over

4. If the economy doesn’t improve, the RBI will have to step in
again

5. The government committed many scams, as if the public had
been blind




1. If they hadn’t rescued him from the sea that day, he would not
be alive now

2. Boss to the secretary, "When they call next time, do not receive
their calls”

3. If I had a bulldozer, I would have run him over

4. If the economy doesn’t improve, the RBI will have to step in
again (NE)

5. The government committed many scams, as if the public were
blind




